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General Instructions :

Read the following instructions very carefully and strictly follow them :

(V)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper comprises five sections —A, B, C, D and E. All questions
are compulsory.

Section A — Questions number 1 to 20 are very short-answer type questions,
carrying 1 mark each. They are required to be answered in one word or one
sentence each.

Section B - Questions number 21 to 24 are short-answer type questions,
carrying 3 marks each. Answers to each of them should not exceed 100 words.

Section C - Questions number 25 to 27 are long-answer type questions,
carrying 8 marks each. Answers to each of them should not exceed 350 words.

Section D — Questions number 28 to 30 are source based questions, carrying
6 marks each.

Section E — Question number 31 is a map question that includes identification
and location of significant test items. Attach the map with the answer-book.

Answers should be brief and to the point also the above word limit be adhered
to as far as possible.

There is no overall choice. However, an internal choice has been provided in
2 questions of one mark, 1 question of three marks, 3 questions of eight marks
and the map question. You have to attempt only one of the choices in such
questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A Ix20=20

Which one of the following categories is not supposed to have belonged to
the Brahmanical prescription of four varnas ? 1

(A) Brahmanas
(B)  Kshatriyas
(C) Nishadas
(D) Vaishyas
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2.

Identify the following image and write its appropriate name : 1

¥ :
Note : The following question is for the Visually Impaired Candidates only in lieu
of Q. No. 2 :
According to popular belief in Buddhism, a woman whose touch caused
trees to flower and bear fruit was called . 1

3.

Study the following statements regarding the identification of centres of

craft production in Harappan culture :

I Archaeologists look for raw materials such as stone nodules,
copper ore, shells, etc.

I1. They study the soil texture.

III. They find unfinished objects, rejects and waste material.

IV.  They try to have chemical analysis of the soils.

Which of the above are correct reasons for identifying centres of craft

production ? 1

(A) TandII

(B) II and III

(C) TandIII

(D) III and IV
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10.

11.

12.

SHIEE | ¥ % qEfl ARU gR S HE o S % [0 F=& 55 g o ?
YT

W i wfdfsed & ?

SiferE i FeheuT i IRATNG HIfT |

ISTEETE 3T Jgale H A= e hIfaT |

§SUT oh TR I TeH ST Tae] o %1 T |

Y fohd TR T & Toh HTeaT SRR T @R & T9gehl & ST & ?
AMTETT A& o AAR, MHfaRad § § OISR AT i Tomdar fohaq
&1 oft 2

(A) TR h GoAdH

(B) 3T & TSIl I

(C) TG 3R g
(D) dfHeETg % 9a
frefaftaa et = afeu

I HCE T o IMEA hl =T fomivar foear 3T g off |
II. 35 AT | i 3R qegean off |

III. $S 9T HicH 1 FHI T T 5 W A 7 |

IV. 98 99 T9a9 & gafed o |

SN U T FeHl F F BT FOH TF F Heifd § ?

(A)  Had I

(B) I, II3R III

(C) I III 3R IV

(D) I, III 3R IV

ffaiaa oMl § @ $I9-01 el & TaY § T8l 757 @ ?

(A) THe IG YEIEH Towdt &1 a=h o |

(B) 3TheR < 3T+ HIHTSY I TR T 3R 30 Ggg oA |
(C) 319 yTfHer I o foTu 3T SeTed WHT 1 Ui SR |
(D) HYUR I A 3Gh THIfG o A1 HEQel Tay I |

goed el b ToreT st 9m fafay, ™ W 1526 1 oeR 7 Stfteer o forn
o |
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4, Why were the French keen to take away the eastern gateway of Sanchi
Stupa to France ?
OR
Why were the Stupas venerated ?
5. Define the concept of Bodhisatta.
6. Differentiate between Vaishnavism and Shaivism.
7. The most unique feature of the Harappan cities was the development of
8. How do you think Francois Bernier was closely associated with the
Mughal Court ?
9. According to epigraphic evidence, who among the following founded the
Vijayanagara empire ?
(A)  Sultans of Deccan
(B)  Gajapati rulers of Orissa
(C) Harihara and Bukka
(D)  Cholas of Tamil Nadu
10. Read the following statements :
I. Krishnadeva Raya’s rule was characterised by expansion and
consolidation.
II. There was peace and prosperity in his empire.
III. He was credited with building some fine temples.
IV.  He belonged to the Sangama dynasty.
Which of the above statements are related to Krishnadeva Raya ?
(A) OnlyI
(B) I,II and III
(C) II, III and IV
(D) I,IITandIV
11. Which one of the following statements regarding Akbar is not correct ?
(A)  Akbar was the devotee of Shaikh Muinuddin Chishti.
(B)  Akbar expanded and consolidated his empire.
(C) He constructed Ibadat Khana due to his quest for religious
knowledge.
(D) He had cordial relations with Safavids over Qandahar.
12. Name the capital of Ibrahim Lodhi which was taken over by Babur in
1526.
.61/2/3 7
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13.

14.

15.

16.

17.
18.

19.

20.

FHATHT 1 OGS i AT ?
e
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R_'”\@QI
39 faesht awh =1 9w fofaw, & fom 3 fegt =1 wet =@
Waﬁm#aﬁ%%ﬁﬁ%%m|w g
SFHYT (A) : HIF U 3 Qe fagra w wft TR T8 A on, S«
3 U o1 o foeg dfean 9 A ¢t Ut |
PRU(R): WA 9EQ AN i S Sgd @ SicE #1 Gw ¥ S @ W A
CEIIURECEIRCIIFU!
ITFd MBI (A) IR HWO (R) 1 A hifow IR Famy fob Fefafaa
T g 991 981 7
(A) (A& 7, 9g (R) H& & 2 |
(B) (AWl &l 8, W=q (R) W&l 2 |
(C) (A3 (R) AT @&l & 3R (R), (A) hT TE =8 7 |
(D)  (A) 3R (R)IEI W&l &, Tg (R), (A) h! HEl =1 T4 2 |
TeTe T’ oam o 2
fora foufa o arforg orcft smg & a1 o forfom ovg o1 3@y o fagig &1 9
HifSq T Tz mm 2
fafafea geaet w fomm Hifsw .
I. Shiere fimm
II. Higgs 991 4 T&ied “3eed JEda
1. 1935 o YA GThR ohl fEEH
IV. <helshdl <hl oeiT &H
T TeATRAl T T HIATHY 7
(A) LIV, IIL 11
(B) I LIV,II
(C) LI, IIL IV
(D) II, L III, IV
ek GfY o ffiiagd Jag™i § § SH-A1 T 799 W 1801 H AW 787
T ?
(A) ST I wEAM wy H AANH R AR FAdE ¥ W % g
TGS Bl

|
(B) @gantt uar % & | fafew @fte gt amma wft |
(C) wearh ver i 36 fafewr @ftes Tl & wat@e Y sHawen S Bt |
(D) Hﬁ;ﬁ;ﬁﬁwﬁ%%%ﬁﬁmﬁﬁmw@%mwﬁﬁw
|
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13.

14.
15.

16.

17.
18.

19.

20.

Who was the author of Humanyun Nama ?

OR
Who was the author of Badshah Nama ?

Name the book written by Al-Biruni on religion, philosophy, astronomy
and laws of India.

Name the foreign traveller who was appointed as qazi or judge of Delhi
by Muhammad Bin Tughlaq for several years.

Assertion (A): The Congress Party never accepted the ‘two-nation
theory’ when forced against its will to accept partition.

Reason (R) : India is a land of many religions and races and must
remain so.

Study the above Assertion (A) and Reason (R) and find out which one of

the following is correct :

(A)  (A)is true, but (R) is not true.

(B)  (A) is not true, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation of (A).

(D)  Both (A) and (R) are true, but (R) is not the correct explanation of

(A).
What was the ‘Rowlatt Act’ ?

What made Birjis Qadr, the young son of Wajid Ali Shah become the
leader of the revolt in Awadh ?

Consider the following events :

I. Cabinet Mission

II. “Objective Resolution” in the Constituent Assembly
III. The Government of India Act, 1935

IV.  The Great Calcutta Killing

The correct chronological order of these events is :

A LIV, ILII

(B) IIL I IV, II

(C) LIILIIL IV

(D) IL I 1III IV

Which one of the following provisions of Subsidiary Alliance was not

applicable on Awadh in 1801 ?

(A) The British would be responsible for protecting their ally from
internal and external threats.

(B)  The British contingent would be stationed in the territory of the
ally.

(C) The ally would provide resources to maintain the British
contingent.

(D) The ally was free to enter into agreements with other rulers
without the permission of the British.

- PTO.



21.

22.

23.

24.

25.

26.

27.

E4E
[k

LCLERC| 3xd=12
FSWT oh WG hi T8 TATIH Hhell I JUH I | 3
oo w18t % fow S & giat 1 fagavo Hifsg | 3
“Te % O fomg, qEemE, IRET 3R @, Seh! Thae g1 germ |7 TSt
& 3H HAF i TEZINT 3T o Fed # Tqee hifg | 3
37 uftfeafaat =1 fagamor dhifse, e st=aia s stfuemiat 3 Ssfioe sared
T HoTel ol TSHEd hl ygiedl i iy § 98 % fore oHfia foran o | 3
ST
STSTEHT IATed] o 37d h ekl H USTHEA ohl UBTISAT o TBTS! Al <hl 3fefeh
3R gmATfeh qenadl o1 fagawo Hifvy | 3
QUe T 8x3=24
HESHYe] bl faRarsti sl Tase hifvu 3t ged WiheiTell SH9C & &9 § A7y
1 sarE Iy | 4+4=8
JrqaT
HR gemee < g faemarsti i Tt Hifu SR e % ‘arm’ W fagrat
ST HIT | 5+3=8
AR WRA H Y TS | Afgennstl hi qfHept 1 9o I | 8
JrqaT
T AU hl Y-TSTEd JUMTE! 3l JU HIT | 8
JTeIEd] 3 Iega Giedl o S SNufafies el § S o it S 8§
3ATT YAl shl 90g hitY | 8
SrerET
sfafaferes e & A SHOET Rl Ufshar SR SHIOET % SR ° wEl <kl
@ HIT | 4+4=8
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E4E

(5]
SECTION B Ix4=12
21. Describe the domestic architecture of Harappan cities. 3
22. Analyse the sources of water for the city of Vijayanagara. 3
23. “For Swaraj, Hindus, Muslims, Parsis and Sikhs will have to unite.”
Explain this statement of Gandhiji in the context of Non-Cooperation
Movement. 3
24. Analyse the circumstances under which the British officials invited
Santhals to settle in the peripheries of Rajmahal hills during the
nineteenth century. 3
OR
Analyse the economic and social conditions of the Paharias (hill folk) of
Rajmahal hills during the late eighteenth century. 3
SECTION C 8x3=24
25. Explain the characteristics of Mahajanapadas and explain Magadha as
the most powerful Mahajanapada. 4+4=8
OR
Explain the main features of the Mauryan administration and explain
the principles of Ashoka’s ‘Dhamma’. 5+3=8
26. Describe the role of women in agararian society during the Mughal India. 8
OR
Describe the land revenue system of the Mughal empire. 8
27. Examine the changes that came in the social life of the people in colonial
cities during 18th and 19th centuries. 8
OR
Examine the process of census operation and the suspicions about census
during colonial rule. 4+4=8
61213 | 11 P.T.O.
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ECLERo] 6x3=18
28. Tr=fafea @@ &1 grauriyds steama Sifse it 3ge fi9 for mu ywl &
?ﬂ'{]%ﬂo@'Q:
“ger Tt T TE ATt =
tlﬁﬁ?ﬁ%@'[:

24 T2 g Wt SUTE gFd dh oS Wi 39 foune sueEnie e H
SUh-2lh daTal B[ & T8 | dgdtd ST ol STt TG L fedm T3
Sefeh IUgd A Tl & HW Th Mel W T8 T = | L e
AfTEee 4 o9 (faema gfer) st 1 st ® T o1 3mmew T ot 3@t

I Tk gEaaTet fohu fomm e e for... |
(28.1) TRTH{eh STGEAT o HATT B T o SN hl TG T | 2
(28.2) BT ol THId S o foTu 3T ST} g hgH T &1 33T Teh 2 2
(28.3) T AT Ig TIAd & Toh Tolcll ARTEeE i YHehT ==& off ? 2
29, Trmfafea @@ &1 geuriqds e Sifse it 3ge fi9 for U gw i &
WW:
“Ifa” amTiTeR Hded

TR % 37715947 © Teh el 3gd & :

Teh ST STEI0T GIUT o UTH, S % 991 o USpaT ol efden & firerm <o
J, Thaed A oarEt furg (Reedt wgem) e | gor 3 S e
g 9, 38 iy & ®9 § iR i A W R T | Thetsw 3 99 #
Te L gt | gior i i S8 T 36 AT & A H 98 W& & i
TAH BT AT B M | T9F & 1Y 98 IR I § frgeea & T |
T T % TIHAR 0 Fdl o &F A H R Fd gL A *
Tifly 9ga MU | HAT H g R Iue & g% ° fowe frwg 1 TEe
Hiehl T | SHITIT BIhL Tehaled 4 Teh 1Y HTA I TATRL 3T HE &8
H A | 9 98 A1 el dl qied IR 1 I8 A 399 q@ht
AR & MU | 378 Ueheled i dT¥l, 3G9 & i g7 ol {3157
AT |
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28.

29.

SECTION D

E4E
[k

6x3=18

Study the following source carefully and answer the questions that

follow :
“Without a shot being fired”

This is what Moon wrote :

For over twenty-four hours riotous mobs were allowed to rage
through this great commercial city unchallenged and
unchecked. The finest bazaars were burnt to the ground
without a shot being fired to disperse the incendiaries (i.e. those
who stirred up conflict). The ... District Magistrate marched his
(large police) force into the city and marched it out again

without making any effective use of it at all ...

(28.1) Examine the causes for the collapse of the administrative system.

2

(28.2) Why could the British officials not take any action to control the

situation ?
(28.3) Do you think the role of the District Magistrate was justified ?

Study the following source carefully and answer the questions that

follow :
“Proper” social roles

Here is a story from the Adi Parvan of the Mahabharata :

Once Drona, a Brahmana who taught archery to the Kuru princes,
was approached by Ekalavya, a forest-dwelling nishada (a hunting
community). When Drona, who knew the dharma, refused to have
him as his pupil, Ekalavya returned to the forest, prepared an
image of Drona out of clay, and treating it as his teacher, began to
practise on his own. In due course, he acquired great skill in
archery. One day, the Kuru princes went hunting and their dog,
wandering in the woods, came upon Ekalavya. When the dog smelt
the dark nishada wrapped in black deer skin, his body caked with
dirt, it began to bark. Annoyed, Ekalavya shot seven arrows into its
mouth. When the dog returned to the Pandavas, they were amazed
at this superb display of archery. They tracked down Ekalavya, who

introduced himself as a pupil of Drona.




2107 3 319 T 377 3167 @ U 9 Ig et o b 98 39 ot st A
arfgefa g &9 | ST J 0T Wl AT AR YT A feemn | g
Tshared o UTH MU fER 37 19T & AR JUrH fRT | a9 gior 3 7%
ST % T U Teheled W 3Gk qlfed 1Y T ST AT for | wehetsd A
B % 1 AT T e B ¢ T | 37 Theted R =t § 3qT1 Ot
TE T | 38 qE QT 7 AT h T T 1 9 g oft 39 ¥ Sedw
ggi T8l @ |

(29.1) TSI 3 UshaTod ol 9T 3y Tfieh v § 1 77 o fem 2
(29.2) Thaed I TAM hl 3T HICAdl hdl T hl ?
(29.3) Ueheiod d {UHA-3ATY ! TTedi o HHE SV T 37 BH 1 qf= =

fe 2

30. Tr=fafea @@ &1 geuriyds teama Hifve it 3me fi9 for U ywl &
WW:

T WTEATE! TSR <hl diefam 1643

frefefaa wens sEtsm g ta e ggaee favdt 6 et g77g-3707-9r@rs
(It SATeT @ foveed) & fom m g

FACATEATAT Sl dE o 91G... T§ BHRT TEIAN... TAUHT AR & 39+
U (STeeTTg WTESTEl) % T U SR SIS TR & foy fyheft... # 3|
91 & foTu arremaE off fo6 3 U9 3R & gom W 8 g1 91 i 1feqam
TS 3 HEAfl... 9gd fod... H T 99 % =T7g W T8l °ig AT 3
U Yehed UIE i W al had, T & H4 9t fig ITht @& i | |
Ug o = e Tt off |

FHER ! TWAH o Gohed T & Y U g3 Fom it saw § gol <ume
1 TEra 6 gt T gs... =i G 6 Teet H ok oS aren off §
TOTE o it T8 3R U9 TS et Sl ITeh! H@e HT g A TIFT | e
¥ Yohed TUTE as 8 1 uid g8l hl FHH 1 et g T8 | e & fidw
T A 9 20Te ¥ 7Y AR & =R AR 91 % T | o # o et
¥ ghed SOTR T 54 Ha¥ IFG1 SR et | Ffeh o gugt St # &R W
of, § IR Feh! off TAMTT 30 HH Yohed AWIR o F W@ |...

(30.1) SIBIT o G o fd 39T forgamd M wferd <t ford TopR @it 2
(30.2) 3IU4 TUME ol Tk fof3rse ofiel 3T o1gm 1 TS =41 AHT 2

(30.3) 34d I(;h'{‘l Jh[ QU 9L HYAT HHHTA TUhd fepa ?
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Drona had once told his favourite student Arjuna, that he would be
unrivalled amongst his pupils. Arjuna now reminded Drona about
this. Drona approached Ekalavya, who immediately acknowledged
and honoured him as his teacher. When Drona demanded his right
thumb as his fee, Ekalavya unhesitatingly cut it off and offered it.
But thereafter, when he shot with his remaining fingers, he was no
longer as fast as he had been before. Thus, Drona kept his word : no
one was better than Arjuna.

(29.1) Why did Drona refuse to accept Ekalavya as his pupil ?

(29.2) How did Ekalavya acquire the supreme skill of archery ?

(29.3) Why did Ekalavya introduce himself to the Pandavas as a pupil of

30. Study the following source carefully and answer the questions that follow :

The following is an excerpt from Jahanara’s biography of Shaikh

Drona ?

The pilgrimage of the Mughal princess Jahanara, 1643

Muinuddin Chishti, titled Munis al-Arwah (The Confidant of Spirits) :

After praising the one God ... this lowly faqira (humble soul)
Jahanara ... went from the capital Agra in the company of my
great father (Emperor Shah Jahan) towards the pure region of
incomparable Ajmer ... I was committed to this idea, that everyday
in every station I would perform two cycles of optional prayer ... .

For several days ... I did not sleep on a leopard skin at night, I did
not extend my feet in the direction of the blessed sanctuary of the
revered saving master, and I did not turn my back towards him. I
passed the days beneath the trees.

On Thursday, the fourth of the blessed month of Ramzan, I
attained the happiness of pilgrimage to the illuminated and the
perfumed tomb ... . With an hour of daylight remaining, I went to
the holy sanctuary and rubbed my pale face with the dust of that
threshold. From the doorway to the blessed tomb I went barefoot,
kissing the ground. Having entered the dome, I went around the
light-filled tomb of my master seven times ... Finally, with my own
hand I put the finest quality of itar on the perfumed tomb of the
revered one, and having taken off the rose scarf that I had on my
head, I placed it on the top of the blessed tomb ...

(30.1) How did Jahanara exhibit her faith and devotion to the Shaikh ?

(30.2) Why did she consider Dargah as a special place of pilgrimage and

(30.3) How did she pay her obeisance at the Dargah ?

reverence ?

15

2
2

2




E4E

wus &
(vt smenfia wea) 1x6=6
31. (31.1) WRA % fCU MU THIfash W-AFRT (56 19 W) H, F=faied =i
Iy ol & eifera ShifSe ot 3 T fofae 1+1+1=3
(i) AN — T fahiaa gewE queda

AT
AT — Teh St T

(i)  9TId — et < e I
(iii)  STHIER IHAAT THIRA — TS TG T heg

(31.2) WA & 3ET TSHIfdes @-0HRT |, 9 T 6l A, B 3R C @ g
TR R S 1857 % SN IS % FEu H 9 | 3% qgeY SN 396w

I ITeh fere Ei=h 18 Waret w fafau | I1x3=3
qig: AT o7 FacT gl qiienteel & (/7 3. g. 31 & € W E
(31.1) Toredl <fia forepfira gewars querett &1 3g@ HIfT | 1x3=3
Jrra
1857 % fagig & fohral o gl ol 3@ ShIlNTT | 1x3=3
(31.2) TS 3o o fohegl 9 shegi o W fafgu | I1x3=3
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E4E

(5]
SECTION E
(Map Based Question) Ix6=6
31. (31.1) On the given political outline map of India (on page 19), locate and
label the following with appropriate symbols : 1+1+1=3
) Nageshwar — A mature Harappan site
OR
Amaravati — A Buddhist site
(i)  Panipat — A territory under the Mughals
(i11)) Amritsar OR Champaran — A centre of national movement
(31.2) On the same political outline map of India, three places have been
marked as A, B and C, which were under the British control
during 1857. Identify them and write their correct names on the
lines drawn near them. 1x3=3

Note: The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 31 :

(31.1) Mention any three mature Harappan sites. Ix3=3
OR

Mention any three centres of Revolt of 1857. I1x3=3

(31.2) Name any three centres of National Movement. I1x3=3

617213 | 17 - PTO.
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